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HH3—2 REYIHERATILEESNIERISHTLZEE0/2) _ REEE | BHSEE
SERMOME | #EES 174A0197 [EliE \ TR R | FRfEHh 5F E—BEhmRILETRIRT PIRE
‘ SMERMO FimlI g 51 SERHEA
ﬁfﬁ% TREOBHBOEILHDOKRES TREDHBEHILHOKRES TREOBBOFSILADKRES TREFDHBFEEIENOKRES
FELoma BT M | B2 | e | oo e | B2 LB | T e | B2 [T T T
i 100kN/ Mm% 25 - — ~ — —|3mzEZB| — ~ — — — | 100kN/M%#BZ % — — ~ — —|[3mZiEZD - ~ — — —
ZFhLs 1.00 ~ 2.94 387.99 | =hus -~ - - - ZFhLs 1.00 | 5.00 ~ 5.50 37.99 | Th st -~ — — —
2 100kN/ Mm% 25 - — ~ — —|3mzEZB| — ~ — — — | 100kN/M%#BZ % — — ~ — —[3mZiEZRD - ~ — — —
ZhLs 1.00 ~ 382 48.00 | =h Lot ~ 3821212 11.36 st 1.00 | 5.00 ~ 5.00 48.00 | =4 |5.00 ~ 500|212 11.36
3 100kN/ Mm% 25 - — ~ — —|3mzEZB| — ~ — — — | 100kN/M%#BZ % — — ~ — —[3mZiEZRD - ~ — — —
ZhLs 1.00 ~ 4.70 58.60 | FhList ~ 4.70 | 1.97 10.56 TnLst 1.00 | 5.00 ~ 5.50 58.60 | =ns |5.00 ~ 550 |1.97 10.56
4 100kN/ Mm% 25 - — ~ — —|3mzEZB| — ~ — — — | 100kN/M%#BZ % — — ~ — —[3mZiEZD - ~ — — —
st 1.00 ~ 4.97 61.92 | =hus ~ 4.97]1.84 9.84 st 1.00 | 5.00 ~ 5.40 61.92 | Zhs |5.00 ~ 540 | 1.84 9.84
5 100kN/ Mm% 25 - — ~ — —|3mzEZB| — ~ — — — | 100kN/mM%#BZ % — — ~ — —[3mZiEZRD - ~ — — —
ZFhLs 1.00 ~ 4.29 53.57 | FnLst ~ 4.2911.99 10.66 st 1.00 | 5.00 ~ 5.00 53.57 | =4 |5.00 ~ 5.00 | 1.99 10.66
6 100kN/ Mm% 23 - — ~ — —|3mzEZB| — ~ — — — | 100kN/M%#BZ % — — ~ — —[3mZiEZRD - ~ — — —
ZFhLsh 1.00 ~ 4.74 59.06 | Fh st ~ 4.7411.79 9.59 st 1.00 | 5.00 ~ 5.00 59.06 | =4 |5.00 ~ 5.00|1.79 9.59
7 100kN/ Mm% 25 - — ~ — —|3mzEZB| — ~ — — — | 100kN/M%#BZ % — — ~ — —[3mZiEZRD - ~ — — —
ZhLsh 1.00 ~ 4.74 59.08 | =h st ~ 1.66 8.90 st 1.00 | 5.00 ~ 5.00 59.08 | =ns |5.00 ~ 5.00 | 1.66 8.90
P 100kN/m#Z#8Z% | 1.00 ~ 3.65 159.05 |3mZE# %5 ~ 1.9314.14 22.13 | 100kN/mZ#B25 | 1.00|11.95 ~ 41.80 159.05 |3mZE#BZ 5| 2000 ~ 41.30 | 4.14 22.13
Th st 1.00 |3.65 ~ 11.43 100.00 | #nLIA | 193 ~ 11.431] 3.00 16.05 Th st 1.00 | 5.00 ~ 11.95 100.00 | =h L5 | 5.00 ~ 20.00 | 3.00 16.05
9 100kN/m#Z#8Z5% | 1.00 ~ 1.74 126.74 |3mZE#Z D ~ 1.3514.04 21.63 | 100kN/mZ#Bz% | 1.00 |17.66 ~ 32.07 126.74 |3mZE{BZ 5| 1500 ~ 32.07 | 4.04 21.63
Th st 1.00 | 1.74 ~ 9.563 100.00 | #nllst [1.35 ~ 9.53 | 3.00 16.05 ZhLs 1.00 | 5.00 ~ 17.66 100.00 | =hL5 | 5.00 ~ 15.00 | 3.00 16.05
10 100kN/m#Z#8Z5% | 1.00 ~ 2.33 136.41 |3mZE# %5 ~ 0891362 19.40 | 100kN/mi%#Bz2% | 1.00 | 1352 ~ 26.57 136.41 |3m#Z#BZ 5| 2000 ~ 2657 | 3.62 19.40
Th s 1.00 1233 ~ 10.12 100.00 | #nLl4t 089 ~ 10.12 | 3.00 16.05 Th st 1.00 | 5.00 ~ 1352 100.00 | =h L5 | 5.00 ~ 20.00 | 3.00 16.05
T 100kN/mM%#82. % - - ~ — —|3mzBRB| — ~ — — — | 100kN/M%E#BZ% — - ~ — —3mzBZ2BH[ — ~ — — —
Th st 1.00 ~ 7.66 98.19 | #nLis ~ 7661251 13.43 ZhLs 1.00 | 5.00 ~ 12.00 98.19 | =4t | 5.00 ~ 12.00 | 2.51 13.43
. 100kN/mM%#8 2.5 - - ~ — —|3mzBRB| — ~ — — — | 100kN/M%E#BZ% — - ~ — —3mzBZ2BH[ — ~ — — —
Th s 1.00 ~ 4.77 59.40 | Fn st ~ 1.69 9.06 ZhLs 1.00 | 5.00 ~ 5.00 59.40 | #nLs |5.00 ~ 5.00 | 1.69 9.06
P 100kN/mM%#82. % - - ~ — —|3mzBRB| — ~ — — — | 100kN/M%E#BZ% — - ~ — —3mzBZ2BH[ — ~ — — —
Th s 1.00 ~ 6.29 78.98 | =nList ~ 6291268 14.34 ZhLs 1.00 | 5.00 ~ 10.21 78.98 | =hLst | 5,00 ~ 10.21|2.68 14.34
14 100kN/m#Z#8Z% | 1.00 ~ 2.08 132.24 |3mZE# %5 ~ 0.1113.07 16.45 | 100kN/m%#Bz2% | 1.00 | 12.06 ~ 20.87 132.24 |3m%x#BZ2 5| 2000 ~ 20.87 | 3.07 16.45
Th st 1.00 | 208 ~ 9.87 100.00 | #nklst (011 ~ 9.87 | 3.00 16.05 ZhLs 1.00 | 5.00 ~ 12.06 100.00 | =h L5 | 5.00 ~ 20.00 | 3.00 16.05
15 100kN/ Mm%z 5 - — ~ — — |3mZEBZ D ~ 1.20 1 4.51 22.77 | 100kN/m%#BZ5 — - ~ — — |3mZEEZ S| 1000 ~ 2021|451 22.77
ZTh s 1.00 ~ 3.63 45.79 | FnUN |1.20 ~ 3.63 | 3.00 15.16 FhLs 1.00 | 5.00 ~ 20.21 45.79 | =S | 5,00 ~ 10.00 | 3.00 15.16
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HH3—2 REYIHERATILEESNIERISHTLIEE2/2) _ REEE | BHSEE
SERMOME | BHEES | 174A0197 | [EliE \ TR R | FRfEHh 5F E—BEhmRILETRIRT PIRE
‘ SERMOTIHRICHEET S SERHEA
ﬁfﬁ% TREOBHBOEILHDOKRES TREDHBEHILHOKRES TREOBBOFSILADKRES TREFDHBFEEIENOKRES
55 X 4 ‘(.%;é) 'Fﬁﬁ?ﬁ\(i)ﬂ)ﬁﬁ%ﬁ jj(gl)\fm%)é X 4 'Fﬂn*ﬁﬁggf‘?g;kili ‘(.%:S jj(gr)\fm%)é R 4 ‘(,g,:né) J:ﬂrﬁb\(i)d)tl:‘.% jj(gifm%)é K 4 J:ﬂrﬁb\(i)d)tl:?% ‘(.%.:né) jj(gifm%)é
16 100kN/ Mm% 25 - — ~ — —|3mZzEBZ B ~ 1.20 | 4.51 22.77 | 100kN/mM%#BZ5 — — ~ — —[3mZE#BZB| 1000 ~ 2021 |4.51 22.77
ZFhLs 1.00 ~ 278 45.79 | Th4s |120 ~ 2.73 | 3.00 15.16 st 1.00 | 5.00 ~ 20.21 45.79 | =4 | 5.00 ~ 10.00 | 3.00 15.16
17 100kN/ Mm% 25 - — ~ — —|3mZzEBZ B ~ 1.08|4.24 21.42 | 100kN/mM%#BZ5 — — ~ — —[3m%E#BZD| 1000 ~ 2263 |4.24 21.42
ZhLs 1.00 ~ 2.68 61.38 | L4 |08 ~ 2.68 | 3.00 15.16 st 1.00 | 5.00 ~ 22.63 61.38 | =hs | 5.00 ~ 10.00 | 3.00 15.16
18 100kN/ Mm% 25 - — ~ — —|3mZzEBZ B ~ 0.93]1395 19.97 | 100kN/ %825 — — ~ — —|3mZE#BZB| 1000 ~ 24.87|3.95 19.97
ZhLs 1.00 ~ 288 81.60 | #hu4t 093 ~ 2.88 | 3.00 15.16 TnLst 1.00 | 5.00 ~ 24.87 81.60 | =4t | 5.00 ~ 10.00 | 3.00 15.16
19 100kN/ Mm% 25 - — ~ — —|3mZzEBZ B ~ 0.93]1395 19.97 | 100kN/ %825 — — ~ — —|3mZE#BZB| 1000 ~ 24.87|3.95 19.97
ZhLs 1.00 ~ 6.48 81.60 | #h4t 093 ~ 6.48 | 3.00 15.16 st 1.00 | 5.00 ~ 24.87 81.60 | =4t | 5.00 ~ 10.00 | 3.00 15.16
20 100kN/m#%#8Z% | 1.00 ~ 218 133.86 |3mZi#BZ % ~ 0.9813.71 19.87 | 100kN/m%B2% | 1.00 | 1456 ~ 28.09 133.86 |3m%i#Bz 5| 2000 ~ 2809 |3.71 19.87
ZFhLs 1.00 | 218 ~ 9.97 100.00 | #nllst 098 ~ 9.97 | 3.00 16.05 st 1.00 | 5.00 ~ 14.56 100.00 | ThA5 | 5.00 ~ 20.00 | 3.00 16.05
21 100kN/ Mm% 23 - — ~ — —|3mzEZB| — ~ — — — | 100kN/M%#BZ % — — ~ — —[3mZiEZRD - ~ — — —
ZFhLsh 1.00 ~ 6.08 76.18 | EnLst ~ 6.08]1.93 10.34 st 1.00 | .00 ~ 7.50 76.18 | =S | 5.00 ~ 7.50|1.93 10.34
29 100kN/ Mm% 25 - — ~ — —|3mzEZB| — ~ — — — | 100kN/M%#BZ % — — ~ — —[3mZiEZRD - ~ — — —
ZhLsh 1.00 ~ 7.28 92.77 | =hust ~ 7281251 13.41 st 1.00 | 5.00 ~ 10.92 92.77 | =S | 5.00 ~ 1092 | 2.51 13.41
P 100kN/mM%#82. % - - ~ — —|3mzEBZB| — ~ — — — | 100kN/M%E#BZ% — - ~ — —3mzBZ2BH[ — ~ — — —
Zhs 1.00 ~ 6.46 81.35 | Th st ~ 6.46 |1 2.71 14.50 Zh st 1.00 | 5.00 ~ 11.05 81.35 | #hst |5.00 ~ 11.05|2.71 14.50
Py 100kN/mM%#82. % - - ~ — —|3mzBRB| — ~ — — — | 100kN/M%E#BZ% — - ~ — —3mzBZ2BH[ — ~ — — —
Zhus 1.00 ~ 3.02 38.82 | #h st ~ 3.02|234 12.54 Zh st 1.00 | 5.00 ~ 5.16 38.82 | #hbst |5.00 ~ 516 |2.34 12.54
100kN/mM%#8 2.5 ~ 3mEHEZD ~ 100kN/ Mm% x5 ~ ImERBZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
100kN/mM%#82. % ~ 3mEHEZD ~ 100kN/ Mm% x5 ~ ImERBZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
100kN/mM%#8 2.5 ~ 3mEHEZD ~ 100kN/ Mm%z % ~ ImERBZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
100kN/mM%#82. % ~ 3mEHEZD ~ 100kN/ Mm% x5 ~ ImERBZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
100kN/mM%#82. % ~ 3mEHEZD ~ 100kN/ Mm% x5 ~ ImERBZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
100kN/mM%#8 x5 ~ 3mEHEZD ~ 100kN/ Mm% x5 ~ ImERBZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
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